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1. Which of the following statement is/are correct about colonialism in India ?

position.

A} Only i and ii
B) Only ii and iii
C) Only i and iii
D} All of the above (i, ii, il and iv)

2. Match the following.
i. Bipinchandra Pal -
ii. Aurobindo Ghosh -
ii. Brahmobandhab Upadhyay -
iv. Krishnakumar Mitra -

i, Indian economy was integrated with the world capitalist system butin a subservient

ii. India produced capital - intensive goods.
jii. Large part of India's savings was appropriated by the colonial state.
iv. Commercialization of agriculture led to capitalist farming.

Sanjivini

Mew India
Bande Mataram
Sandhya

A) i — New India, ii - Bande Mataram, iii - Sanjivini, iv — Sandhya
B) | — New India, il — Bande Mataram, iii - Sandhya, iv - Sanjivini
C) i — Bande Mataram, ii — New India, iii — Sanjivini, iv ~ Sandhya
D) i — New India, il — Sandhya, iii — Sanjivini, iv — Bande Mataram

3. Which of the following statement is/are correct about cause of French Revolution 7
i. The inability of King to carry forward centralised administrative processes.
i Tension between the nobles of the robe and the nobles of the sword,
ii. Peasant had to give the fee called banalities.

iv. Physiocrats were against monarchical absolutism.

A) Only i and iv
B) Only i and iii
C) Only ii and iii
D) All of the above (i, i, iit and iv)
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4. Revolutionary Catechism was written by

A) Lenin B) Bakunin

C) Sergi Nechaev D) Stalin

. Kerala Mitram was published on the initiative of

A) C. Kunhirama Menon B) Herman Gundert

C) Deviji Bhimiji D) T. K. Madhavan
. Hungary's first female President

A} Katalin Novak B) Andrea Mager

C) Anna Ratko D) Valeria Benke

. In remate sensing, the term used to a set of values which reflect or radiate from the
object is called

A) Spatial Resolution B) Spectral Signature

C) Electro Magnetic Radiation D) Active Sensors

 Which one of the following is not correctly matched ?

a. Primary wave : Compression or rarefaction waves

b. Secondary wave : Distortional waves

¢. Surface wave : Longitudinal waves

d. Rayleigh wave : 1887

A) aand b only B) donly

C) conly D) ¢ and d only

9. Identity correct fact about regional division of Himalaya.

i. Punjab Himalaya is in between river Indus and Satluj.

i, Nepal Himalaya extends between river Kali and Tista.
iii. Assam Himalaya is in between river Tista and Brahmaputra.
iv. Kumaon Himalaya extends between river Satluj and Tista.
A) All of the above B) i, i and iii
C) ii and iii D) iand v
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10. Which one is not the characteristic features of Coriolis force ?

A) Coriolis force is an effect of rotational movement of the earth

B) Coriolis force do not becomes effective on any object which is in motion
C) Cariolis force affects wind direction

D} The magnitude of Coriolis force is determined by wind speed

11. The climate of Kerala as per Koppens classification is not true

A) Tropical moist deciduous monsoon with seasonally fair rainfall

B) Thiruvananthapuram district, climate as tropical savana with seasonally dry and hot
summer weaather

C) The climate is pleasant from September to February
D) Summer months is uncomfortable due to high temperature and hurmidity

12. Find right from the given statemenis.

a. The Bara Shigri glacier is in Lahul Spiti Valley.
b. Outflow from the glacier provides source water to the Son River.

¢. Lahul Spiti located on the northern slope of the Pir Panjal Range of the inner
Himalayas.

d. The Lahul Spiti are connected to the rest of Himachal Pradesh via the Lipule Pass.
A) aandc B) bandd C)abandc D) all of the above

13. Which of the statement is not correct relating to NAM 7

A) Integration of APMCs across the country

B) Here goods are being sold without any mandi tax

C) Provide asymmetry information to buyers and sellers

D) Itis a common online trading platform for non farm goods

14. Which of the following statements relating to Rashtriya Krishi Vikas Yojana is not

comect ?

A) Allowing States to choose their own agriculture activities
B) Itis a scheme with 100 percent central assistance

C) It promotes agri-entrepreneurship and innovation

D) In 2017 itis renamed as RKVY-RAFTAAR

-6-
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15. Match List — | (Institution) and List — Il (Sector) and sglect the correct answer using

the codes given below the lists.

List -1 List-=1l
a. FITCH 1. Tourism industry
b. IFCI 2. Credit rating
c. TFCI 3. Venture capital
d. CCIL 4. Govemnment securities
Codes :

g e o
) e clip=tgs 2
C b e S B
e 2
DT 1 3

16. The real architect of India's GST

A) P. Chidambaram B) Vijay Kelkar
C) Nirmala Sitharaman D) Azim Dasgupta

17. Name the initiative launched by NITI Aayog for transforming elementary and

secondary education.
A) SSA B) RMSA
C) E-AMIRT D) SATH-E

1B8. Consider the following regarding FAME India Scheme, which of the following

statement is/are correct 7
i, The first phase of the scheme was launched in 2015.

ii. FAME refers to Faster Appropriation and Manufacturing of Hybrid and Electnic
Vehicles.

jiii. The scheme was implemented by Ministry of Heavy Industries.

. The second phase of the project is being implemented from April 1, 2019 for three
years.

A) Only i and iv B) Only ii and iii

C) Only i, iii and iv D) Only iii and v
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13. The speaker of Lok Sabha should send his resignation to

A) The President B) Prime Minister

C) Deputy Speaker D) Vice President

21.

24,

25.

The principle of double jeopardy means

A) An accused persons shall not be compelled to be a witness against himself
B) Punishment shall not be imposed retrospectively

C) A person shall not be prosecuted and punished twice for the same offence

D) A person shall not be subjected to a penalty greater than the one prescribed by law
at the time of commission of the offence

The Governor of the State shall take oath before
A) The Chief Minister

B) The President

C) The Chief Justice of High Court

D) The Chief Justice of India

Constitutional obligation to give legal advice to the Government of India lies on
whom

A) Secretary, Ministry of Law and Justice
B) Altorney General of India

C) Chief Justice of India

D) Solicitor General of India

All disputes relating to the election of the President shall be decided by

A) The Supreme Court B) Any High Court

C) Election Commission of India D} Central Administrative Tribunal
Concept of Equality before law means

A} Absence of any special privilege B) Like should be treated alike

C) Supremacy of the Constitution D) Equal protection of laws

Which writ may be issued against a public official directing him to parform his legal
duty ?

A) Habeas Corpus  B) Certiorari C) Quo warranto D) Mandamus
State shall provide free and compulsory education to all children at the age of
A) Six to fourteen years B) Six to eighteen years

C) Four to eighteen years D) Four to fourteen years

A0
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27. Whao is the Present Chairperson of GST Council ?
A) 5ri. Narendra Modi
B} Smt. Nirmala Sitharaman
C) Sri. Shaktikanta Das
D) Smit. Rekha Sharma

28. The State Finance Commission of Kerala has been constituted on account of the
Kerala Panchayat Raj Act, 1994. Which of the following statement (s) regarding the
Kerala State Finance Commission is/are correct 7

I. The Commission consists of such members not exceeding three including the
Chairman.
ii. No member of the Commission is eligible for reappointment.
iii. The Commission reviews the financial position of the Panchayais.
A) Only i and ii
B) Only ii and iii
C) Only i and iii
D) All the above (i, ii and iii)

28. Akshaya Project in Kerala, has been launched in 2002 as a network of Common
Service Centres (CSC) envisioned to deliver digital services to the public and to
anhance digital inclusion. Which of the following staterment (s) stay (s) closer to the
objectives of Akshaya project 7

i. To harness Information and Communications Technology (ICT) to build and better
services for transforming the relationship between Government and State.

ii. To ensure that the Government achieves its delivery priorities, across the key areas
of public service.

iii. To understand current and future demand for digital skills in the economy.

iv. To impart the ICT skills to the youths of Kerala and improve their employability
opportunities for industry,

A) Only i, ii and iii

B) Only ii, iii and iv

C} Only i, iii and iv

D) All the above (i, ii, iii and iv)
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30.

3.

Which of the following Legislative Committees in the Kerala Legislature is authorised
to serutinise and report to the Assembly whether the powers to make Regulations,
Rules, Sub-Rules, Bye-laws etc., conferred by the Constitution or delegated by
the Legislature or by the Parliament on the State Government are being properly
exarcised within such delegation 7

A) Business Advisory Committee B) Committee on Public Undertaking

C) Committee on Public Accounts D) Committee on Subordinate Legislation

The Kerala Administrative Service (KAS), which was formed on the lines of the
Indian Administrative Service came into effect on November 1, 2021. Which of the
following objective (3) of the Kerala Administrative Service (KAS) is/are correct as
per the Kerala Administrative Service (KAS) Amendment Rules, 2019 7

i. Tobuild a cadre of public servants as a second line of managerial talent for Government
for effective implementation of Government policies and programmes.

ii. To provide opportunities for bright, talented and committed officers in Governmeant
Service and prepare them for senior level administrative and managerial positions
in Public Service.

iii. Toconstitute the feeder category for the recruitment of Indian Administrative Service
Officers in Kerala Cadre.

A} Only i and i B) Only i and jii
C) Only i and iii D) All the above (i, ii and i)

The Right to Information Act which came into existence in 2005, aims to promote
transparency in Government Institutions and ensures the rights of citizens to public
information. Which of the following statement (s) is/are appropriate for referring the
State Information Commission as a quasi-judicial body ?

i. The Chief and other Commissioners are appointed by the Governor on the
recommendation of an appointment committee consisting of the Chief Minister as
Chairperson.

ii. The Information Commission has to receive and inguire into a complaint from any
person.

ili. The Commission has the Suo-moto power sinca it is authorised to order an inquiry
into any matter if there are reasonable grounds. .

iv. While inquiring, the Commission has the powers of a civil court in respect of civil
matters.

A) Only i, il and iii B} Only ii, iii and iv
C) Only i, iil and iv D) All the above (i, ii, il and iv)
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33. Five depariments along with respective directorates under the Kerala Local Self-

34,

38.

Government has been merged into a single department [Local Self-Government
Department (LSGD) Common Service] on 18" February, 2022. Which of the following
department/directorate is not included in the aforesaid merger ?

A) Planning and Economic Affairs Department
B) Panchayat

C) Rural Development

D) Town and Country Planning

In a human male, a normal sperm contains autosomes and
A) Both 'X' and *Y' chromosomes

B) Either ‘X' or "Y' chromosome

C) Two X' chromosomes

D) Two Y chromosomes

Human Development Index (HDI) includes
1. Life expectancy at birth
2. Infant Mortality Rate (IMR)
3. Gross national income per capita
4, Mean years of schooling
A)1,2and3 B) 1,2and 4 C)2 3and4 D) 1,3and 4

The following question consists of two statements. One labelled Assertion (A) and

the other labelled Reason (R).

Assertion (A) : Rabies is an acute infectious disease of warm blooded mammals
characterised by involvement of Central Nervous System resulting
in paralysis and finally death.

Reason (R) : Rabies is caused due to neurotropic bacteria in the saliva of rabid
animals.

Select the correct answers to this question from the codes given below.
1. Both (A) and (R) are true and (R} is the correct explanation of (A)
2. Both (A) and (R) are true and (R) is not the comect explanation of (A)
3. (A) is true, but (R) is false

4. (A) and (R) are false

A1 B) 2 C) 3 D) 4
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37. Which of the following statements is/are correct about ‘Aardram Mission’ 7

1. Aardram ensures community participation through ASHA, WHNCS and Kudumbasree
health workers.

2. The main focus is to achieve SDG 4.

3. Provide access to comprehensive health services for marginalised population.
4. One of the main objectives is to re-engineering PHCs to FHCs.

A) Only 1 B) 2,3and 4

C) 1,2, 3and 4 D) 1.3and 4

38. Pulse Polio Immunization is administration of OPV to
A) All children between 0 — 5 years of age, wherever there is an outbreak

B) All children between 0 - 5 years of age on a single day irrespective of their previous
immunization status

C) All children between 0 — 5 years of age who have not been immunized previously
D) None of the above

39. One Newtonisequalto________ dynes.
A) 1000 B) 10000
C) 100000 D} 1000000

40. The energy required to remove a body of mass m from the earih’s surface is equal to
A} mgR B) 2 mgR
C) Zero D) -2 mgR

41. A small drop of liquid is spherical in shape due to
A) Viscosity B) Buoyant force
C) Gravity D) Surface tension

42. When the object is at distances u, and u, from the optical center of a convex lens,
a real and virtual image of the same magnification is obtained. The focal length of

the lens is
1.I1 i I"IE l'I'I & uE
a2 ks
C) 2u, D) 2u,
A 18-
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D) sheds cdRaitie o,

. .00 ARET __ darrieri Ty e
A) 1000 B) 10000
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A) mgR B) 2 mgR
C) Aad D) -2 mgR
. 2omh X @0 OaE fewnns ends Zeedd, ®on
A) arid B) dewos T
C) rocoss g=rrd D) e v3E

42, Sy a6l FReOs sage” dedlodu, SR u, tetudtemen, et Igrdcd e
Fhay ot wEan Tdcmnodd Smedd ghee Sor DOBOTL

U, —u u; +
E:" 2“9 D} EI.JI
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43, Two atomic orbitals are represented by the quantum numbers
1. n=3 1=2and m = +2 and
2. n=3,1=2and m = -1 respactively.
Choose the correct statement.
A) They have the same energy
B) The first orbital (with m = +2) has more energy
C) The second orbital (with m = =1) has more energy
D) Mone of the above statements are correct

44, Consider the following statements :
In diborane
|. Boron is approximately sp® hybridised.
1Il. B-H-B angle is 180°.
lll. There are two terminal B-H bonds.
IV. There are only 12 bonding electrons available.

Of these statements
A} 1, 1l and IV are correct B) I, Il and Il are correct
C) I, 1 and IV are correct D) |, Il and IV are correct

45. Which of the following compounds possess Lewis acid character 7

|. BF,
Il. NH, :
. H,0 :
Choose the correct answer.
A) | alone B) I, Iland Il C) lland Il D) Land Nl

46, Hydrogel capsules used by Kerala farmers for conservation of soil moisture
contains .
A) Rubber B) Polypropylene  C) Starch D) Polystyrene

47. ‘Chetana Grdha Mullick’ is a character in a famous novel in Malayalam.
A) Manju B) Delhi Ghadhakal
C) Aarachar D) Khasakkinte Ithihasam

A -20-
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48,

51.

52.

23.

——Izaperforming art in Kerala conceptualised about eighty years ago by Guru
Gopinath.

A) Padayani B) Kerala Nadanam
C) Koothu D} Kalarippayattu
. Milano Cortina — 2026, the next Winter Olympics will be held in which country 7
A) France B) Haly
C) Spain D) None of these

- Which of the following statements are wrong 7

1. Attachamayam celebration is associated with Trippunithura Town near Cochin.
2. Cassia Fistula is the scientific name of Lotus.

3. The first mosque in India is in Delhi.

4. St. Thomas, the apostle landed in Muzris.
A) 1,2and 4 B) 1and 2
C) 2and 3 D) 4 only

What should come in place of the question mark {?) in the following question 7

fumtaand ail o

R e |

7 L
L -
. 12 B} 12
7 1
o D 53—
. 12 ) 12

Two students appeared at an examination. One of them secured 9 marks more than
the other and his marks was 56% of the sum of their marks. The marks obtained by
them are

A) 39, 30 B) 41,32
C) 42,33 D) 43, 34

If a man can cover 12 metres in one second, how many kilometres can he cover in
3 hours 45 minutes 7

A) 150 Km B) 156 Km
C) 162 Km D) 168 Km
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L rbhRancd sote SEr i ket bdh fetmy esten Zotdemd dedvi
womd HEgrs scinnc
A) zcodrd B) deo¥ aso
C) drd D) swbmotis
Dommda Saeirm — 2026, 50008 BiRUR wooder ciRE deind SEadd ?
A) W B) awd
C) %7 D) ==y cinajcie v
SeNTRINvE) cinsl Be0d STne 2
1. eguzboie wdrols detlr wooh dT)REm Tur dowehad

2. r@oﬁ@mﬂaﬂd@a&mﬁﬂﬂm
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1 1 - S b

3 4d=-2=-1—=T7

L i R -

4 5
e P
Al 112 o 12
7 1
3— .
il 12 ] y 12
T S BT Zodn mEmig. eS0d L THRLENGE 9 wosrivng Bul IEo
) e eosih eZbyp e SR 56% wne. et T wownl
A) 39, 30 ' B) 41,32
C) 42,33 D) 43, 34

), TR D Lol HoRad 12 Quekotrivih ga0a0S, eaid 3 notd 45 ReomEnve o
tpeonic’ 8L0RLE 7

A) 150 &.ooe. B) 156 &.2u0e.
C) 162 &.ace. D) 168 &.ase.
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54.

=1

a7.

60.

How many numbers between 11 and 90 divisible by 7 7
A) 10 B) 11
C) 12 D) 13

. The perimeter of a rectangle and a square is 80 cm each. If the differance batween

their areas is 100 cm, find the sides of the rectangle.
A) 30cm, 10cm B) 40 cm, 15 cm
C) 25¢cm, 10 cm D) 20 em, 30 cm

If '+’ means '+, = means '+’ '« means -, '+ means x' . thenB2 +8—-4x12+4=7 .

A} 16 B) 26
C) 116 D)6

The numbers/terms follow a certain pattern throughout the series. Find the missing
term 40, 30, 22, 186,

A) 10 B) 12
C) 15 D) 17

. If in a mirror a clock shows time as 12:40, then the real time is

A) 11:20 B) 10:10
C) 8:10 D) 12:40

. B is the brother of A, S is the sister of B, E is the brother of D, D is the daughter of A,

F is the father of S. Then the uncle of E is
A) B B) A
C)D D)F

| am facing East. Turning to the right | go 20 m, then tuming to the left | go 20 m
and turning to the right | go 20 m, then again turning to the right | go 40 m and then
again, | go 40 m to the right. In which direction am | from my original position ?

A) North B) West

C) South D) East

<24
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. 11 3023 90 d 3EF b Hesdridl 7 Lol wehduEsmh 9

A) 10 B) 11

C) 12 D) 13
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61.

66.

67.

70.

.

72,

The word appendix has the plural

|. Appendixes
II. Appendices

. Appendixas

IV. Appendixum

A) | only B) |and Il only C) Wl only D) 1l and IV only
The medicines alleviate his pain to a certain extent.
Choose an antonym for the underlined word from the oplions given below :

A) agitate B) reduce C) decrease D) aggravate
The singer and dancer left the meeting.

A) has B) have C) were D) none
Everything matters now, _____

A) doesit 7 B) isn'tit? C) doesn'tit ? D) isit?
Choose the comect spelling from the options given below :

A) Occurance B) Occurrance C) Occurence D) Ocecurrance
If you had missed the bus, you

Complete the sentence suitably.

A) will certainly be late. B) would certainly be late.

C) would certainly have been late. D) will certainly have been late.

The students were loath to leave the school after the final examination.
The word ‘loath’ is an example for the part of speech,
A) noun B) verb C) adjective D) adverb

They forbid the workers from going on a strike.
The given sentence may be rewritten as

A) The strike was forbidden from going on by the workers.
B) The workers are forbidden from going on a strike.

C) The strike is forbidden from going on by the workers.
D) The workers were forbidden from going on a strike.

They took a way to reach the destination.

Choose the best suitable word to fill in the blanks.

A) torturous B) tortuous C) torture D) torturing
The word bona fide meaning genuine is a word.

A) Spanish B) French C) Latin D) Russian
PSTN stands for

A) Plain System Telephone Network B) Public System Telephone Network
C) Public Switched Telephone Network D) Private System Telephone Network

In ISDN BRI, the maximum bit rate of d channel (signalling channel) is

A) 64 KBPS B) 16 KBPS C) 144 KBPS D) MNone of the above
-05-
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Which of the statement is incorrect 7
ISDHN is

A) A reliable connection
B) To facilitate the user with multiple digital channels
C) Costlier than the other telephone system

D) More flexible

In a PABX system, which is considered as a disadvantage

A} Maintenance B) No operator

C) Cost D) Customer experience
Which is not applicable in the case of PABX 7

A)  Auto attendant B) Call queueing

C) Call transfer D) Operator

The component of a PABX system that connects the internal network to the outside
world

A) Exchange B) Handsets C) Gateway D) Operator

C) Scalability, More Features, Reliable and Poor Call CQuality

- D) Scalability, More Features, Unreliable and Poor Call Quality

In Voip, SIP means :
A) Session Initiation Protocol B) Standard Internet Pratocol
C) Standard Internet Procedure D) None of the above

With reference to a Hosted PBX system, which of the following is not correct 2
Al It has a remote data centre

B) Itis an advanced cloud telephone system

C) Itis an on-premise volp solutions

D) It has redundancy in case of outages

The advantage of an On-Pramise PBX system could be

A) Suitable for the internet powerad telephone networks
B) Initial cost is lower

C) Offers customers more control over their phone system
D) None of the above

To select an appropriate EPABX one need to have proper knowledge about
A) The traffic pattern inside the office

B) All the internal and external requirements of the organization

C) Features required

D) All the above

27.
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B2.

83.

86.

a7.

88.

Ba.

90.

An IVR means
A) Integrated Voice Recording B) Integrated Video Recording
C) Interactive Voice Response D) None of the above

What is an auto attendant ?
A) A business phone system feature B} Virtual receptionist
C) Customer self service D) All the above

In call parking feature, which is not correcl 7
A) Caller is directed to a specific department
B) The caller directed onto a separale line that anyone in the organization can access
C) Especially important for companies with a large customer call centre or customer
service operation
D) None of the above

The feature of some call centre applications that allows a supervisor 1o listen live
to agent calls and if necessary, essentially turning them into three-way conference
call is called

A) Call parking B) Follow me C) Call forwarding D) None of the above

When you receive an incoming call, sarvice will attempt to reach you on all
your devices-home, office, cell phone, etc. in a consecutive order that you define.
A) Call forwarding B) Call transfer C) Follow me D) MNone of the above

The feature which stops any incoming calls temporarily from ringing, can put all
distractions aside and can send the incoming calls o voicemail

A) Do not disturb B) Call parking

C) Call camp on D) Mone of the above

The feature that provides, service for multiple telephone numbers over one or more
analogue or digital physical circuits to the PBX and transmits the dialled telephone
number to the PBX, so that a PBX extension is directly accessible for an outside
caller, possibly by-passing an auto-attendant is called

A) Call forwarding B) Direct inward dialling
C) Auto attendant D) None of the above
Benefits of EFPABX systems are

A) Internal communications B) Centralized control
C) Automation D) All the above

An electronic communication system in which spoken messages are recorded or
digitized and stored for later playback to the intended recipient, called as

A) Short Message Service B) IVRS
C) Voice Mail System D) None of the above
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